Ne

D

b

3)

8)

10)

An atom of argor(rarely >hm1d> to an atom of another element because an
argon atom has

A) 2 electrons in the first shell
B) 22 neutrons
) 3electron shells

® 8 valence clectrons Nesee GASF$/ Sraa e ocrET ;
\ barlimatom attains a stable elegiron configuration when it bonds with

. 0Pt B 5
@ (vo chlorine atoms '\ _Gg' C) one sodium atom

B) i )

two sodium atoms (& one chlorine atom

.
When .\(mm and ﬂt{grl 1e combine m.p roduce the compound NaF. the
ions formed have the same electron configuration as atoms of -1
A} argon. only z%_;‘ 2T’ @& ncon, only 25
3} both argon and neon @ D)

Which statement describes what occurs as two atoms 0
combine to become z

neither argon nor neo

A)  Encrgy is released as a bond is broken. Br + Br —» 3/3. f@
@ Energy is released as a bond is formed.

) Energy is absorbed as a bond is formed.

) Energy is absorbed as a bond is broken.

Given the balanced equation representing a reaction:

ig‘ﬁ/ 7 Chig —Cle +Cig)

What occurs during this change?

A) Energy is released and a bond is formed.
B)  Energy is absorbed and a bond is formed.
@ Cnergy is absorbed and a bond is broken.
D) Energy is released and a bond is broken.

Which term indicates how strongly anfatom attracts the electrons)n a

chemical bond?

A activation energy C) atomic mass
B)  alkalinity ®& clectronegativity EAS

Which clement has an atom with th

chemical bond? 2 Fa c(

@® B) P N'{\

Atoms of which element have the greates tendency to gain electrons,
A) bromine 3,0 C) 2.7

B) chlorine 3.2 ® ¥, 0

Which substance contains bonds that involved tht‘clcctrons
from one atom to another?

A) NH,
® KBr M + M = ToN/C

I'he bonds in BaO are best described as

A) cmu]cﬁ’.ﬁ’ﬁ b oo

ccause valence clectrons are transferred
® )ccausc valence electrons ar
() ionic. because valence electrons are shared
D)

Bi D)y As

iodine

fluorine

) L,
D) CO,

covalent, because valence electrons are shared

“ém

i i classified ,12 § represe 2 eie
Ay 1 B) H C) Br ®) Rb
' st WA
12)  Which of the following Lewis electron-dot diagrams represents calcium
oxide?
2+ ‘Q.. 2— e
@ Ca E‘Q' o) CaxsO3
ex -2+ 2- o o2®
B) |eCax| O m xCasOs
[
REMEMBER . bracitess, agpes, Bdo s amni
13)  Which two substances arompmm s? el

A)  Kl(s) and NaCl(s) ,y,q"”‘, C) NaCl(s)and HCl{g) LoN
O (T()H”()()(s) and HCl(g) D) Co”(z()o('\" and KI(s)

14)  As abond between tom and mm is formed.
electrons are A N
) y @ n form ond

B) transferred to form an ionic bond
C)
D)
Which of the following formulas represents ‘om;mund'."
A) Kr C) Nal

0 NO, N+ ANK D) LIOH
r‘\r’mlccul‘:‘ contains zbccausc the two atoms of
oxy gen share a total of

A) C) 2 electrons

B) @ 4 electrons

- * °
. ~ - L]
Given a formula for oxy gen: @)
. .
7 :

transferred to form a covalent bond
< CITC < Coug/uf

shared to form an ionic bond

wn

16)

I electron
3 ¢lectrons

What is thc(fotal number of electrons shared between the atoms
represented in this formula?

A) L B) 2

C)y 8 4

2 (0]}
Which of the following elements is composed of molecules that each
contain {multiple covalent bond)

A) chlorine C€-C@ @ nitrogen NZN
B) FF D) hydrogen Af—4f

The(degree <,)t‘501arit\>of a chemical bond in a molecule of a compound

fluorine
19)
can be predicted by determining the difference in the
A)

atomic masses of the bonded atoms in a molecule of the compound
clectronegativitics of the bonded atoms in a molecule of the
feno, [ rontiry, £ zonc

— -
melting points of the elements in the compound Cﬂwofa&

compound
C)
D)
The chemical bond between which two atoms i olar?
24 3.0 ‘
A) C) H-H 2,2

C-N
B) Greafest ENp ® SO
—

S-Cli
2,6 3,2 /9 29

densities of the elements in the compound

20)




i2) Inthe boxbelow, draw the electron-dot (Lewis) structure of an atomof phosphorus.

./0.,

13} In the boxbelow, draw the electron-dot (Lewis) s;ructuré ofan atomof iodine.

4y In the boxbelow, draw the electron-dot (Lewis) structure of phosphorus tri-iodide (a covalent compound).

Lz Pl T -

{5)  In the boxbelow, draw the electron-dot (Lewis) structure of carbon disulfide {a covalent compound).
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